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1. The support assembly shown is bolted in place at B, C, and D and supports a downward force P at
A, as Fig-1. Knowing that the forces in members AB, AC, and AD are directed along the

respective members and that P = 200 N, determine the forces in the members. (20%)
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2. From the beam system as Fig-2 shown,
—o between distribution load @ and

(Oderive relationship form g—\;

shear force V, (10%)
(@derive relationship form (;_I\)Zl =V between shear force V and moment M. (10%)
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3. Draw the shear and bending-moment diagrams for the beam AB as Fig-3 shown, and determine the
maximum absol ute values of the shear and bending moment. (20%)
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4. Rectangular plate OABC (40cm x 60cm) deformsto OA'B’C’ as Fig-4 shown.
(10%)

(O Determine the components of strainse,, , €,,, v,, -

(@Determine the principal strain and the direction of principal strain. (10%)
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5. A laminated wood beam on simple supportsis built up by gluing together tree 2-in x 4-in boards to
form a solid beam in cross section as Fig-5 shown. The allowable shear stressin the glued jointsis
65 ps and the allowable bending stress in the wood is 1800 psi. If the beam is 6- ft long, what is the

allowable load P acting at the midpoint of the beam? (Disregard the weight of the beam) (20%)
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